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Some universities do not allow students to keep televisions in
their dormitory rooms on campus. What are the advantages and
disadvantages of this policy?

Do you agree or disagree with the following statement?
Newspapers are a better source of information about current
news events than television is.
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Reading: The university is to hire a professional theater director
for the spring musical this year

Listening: disagrees

R1: the director is quite busy, and he can attend the rehearsals
only once a week. Students have to count on themselves.

R2: the director is quite famous in the area and students who are
major in theater may know him. But for other students, he is not
that famous.

Experience goods: the usefulness and value of which cannot be
known until a customer has certain experience with them.
Companies may give free samples and previews to convince them.
The professor talks about an example of his friend who runs the
business of educational DVD sales. At first, the business was
difficult, so she decided to send free sample DVDs to some of the
primary school teachers and after the teachers tried the videos,
the educational DVDs start to get famous nationwide.
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P: The man is moving off campus next semester and without an
easy access to the computer lab on campus, he has to buy a
laptop for his school work.

S1 he can work extra shifts in the library for money, but he is
pretty busy with his classes.

S2 he can use the money for winter vacation travel, but he wants
relaxation after a busy semester.

Two adaptations polar bear prevent its body losing heat and keep
itself warm.

1. to absorb more heat from the sun: even thought the polar bear
has white fur, beneath the fur, the skin is black and it helps the
polar bear to absorb more heat when the sunlight reaches the
skin.

2. it has oily fur which is waterproof. Therefore, the oily fur stop
the polar bear to lose heat when swimming in the freezing water.
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Three hypotheses of the function of ceramic disks in Greece
Reading:

1 : used as pan to cook food

2: use as drum

3: used as mirror

Listening: oppose

Lecture is against the passage

1. Disks has no blacking and discoloration

2. The sound of ceramic drum is unpleasant comparing the wood
3. The decorations is unnecessary if the disk is placed horizontal

Do you agree or disagree with the following statement? All
university students should be required to take history courses no
matter what their field of study is. Use specific reasons and
examples to support your answer.
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C mREE 0 (gEeme DEE | BESWEENS \
1 2014-11-29 KBE+1b3E (KAL) 100% 130810 NA 120205 CN 110326 CN
2 2014-11-15 KBE+1b3E (KAL) 100% 130215 NA 120617 CN 100410 CN
3 2014-11-9 AKBE+1b3E ( KELHH) 100% 130913 NA 120908 CN 101204 CN
4 2014-10-26 KBE+1b3E (KAL) 100% 130927 NA 120728 CN 110313 CN
5 2014-8-16 KBE+Jb3E ( KELH) 100% 120505 NA 120916 CN 110827 CN
6 2014-7-6 KBE+1b3E ( KELH) 100% 091205 CN 110709 CN 100828 CN
7 2014-6-21 KBE+1b3E ( KELHE) 100% 130427 NA 120224 CN 090920 CN
8 2014-5-17 KBE+1b3E ( KELH) 100% 130223 NA 101017 CN 090926 CN
9 2014-03-22( H—) | KBE+4bsE (KELHE) 100% 121027 NA 101017 CN 091220 CN
10 2014-3-2 KBE+1b3E (KAL) 100% 120908 CN 121012 NA 081213 CN
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